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Questions

Which of the given measures is often used to determine rich and poor nations.

Which of the followingis a part of less developed countries.

Which of the following is not a problem of high developed counries.

Population of less developed countries face.

Which of the following is reflecting modern techniques.

The science of systemic knowledge of the industrial art is called.

People living in developing countries have.

Which of the following organ of the human body is being transplanted fromthe dead into the
living.

Adequate protein supply in attained if at least ..... grams of protein are available per person
daily.

Adequate quantity is considered at least 2400 available calories per person.

Answers Choice

A. Life expectancy

B. Food Supply

C. Low rate of population growth
D. All of these

A. Low borrowing rates from outsides
B. Use of savings in unproductive
things

C. Politicla disturbance

D. All of these

A. Poor mineal and agriculturla
resources.

. Low levels of local innovation

. Poverty and low levels of savings
. All of these

o

. Rapid natural population growth

. Poor educational levels and skills
. Poor health standards

. All of these

. Rail way and roads
. Shipping

. Air communication
. All of these
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A. Space science

B. Ecology

C. Technology

D. Zoology

A. Low life expectancy
B. High infant mortlity
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. None of these

. Eye

. Heart

. Kidneys

. All of these

.40
.50
.60

70

. Weekly
. Daily
C. Monthly
D. Yearly



